Verbesserung KW 49
Aufgabe 1:
a) e+ 2ef + f2=(e+[)
b) g —2gh+h2 (9 —h)?
c) (
d) 36 —12r + 12 = (6 —1)?
e) i —10i + 25 = (i — 5)?
f) 3k? — 23k +1 = (V3k — 1)?
g) 2248z + 16 = (x + 4)?
h) 64n? + 48nc + 9¢* = (8n + 3¢)?
i) 2 —2tm+m? = (t — m)*
)

j) zt =222+ 1= (22— 1)?



(0lefre—) = 2x “(0lg/ e) = TX | uoqoTdsIoA UdjUN [DRU ¢ Wn (1= 1) | Joogi—]=/m | (c1-0)S | o1 — 2 = (2)f | (p
(0logr—) = 2x “(0log ) = TX | WOQOYDsIoA UojUN [PRU (¢ W | (Fg — [9A—)() | |00 0g—] = Im|(oglo)s | og—z=(x)f | (
dS ouray U9OTDSIOA U0 [DRU ) WM (8IT) Joois] =7m (Llo)s| L+2=(2)) ] (q
dS oUIY | UDQOTDSIOA U0 YIRT (g U (9¢lor =)0 | Jootog] =M | (0€0)S | 08+ .z = (%) [ | (e

ASYOY-X I9p U JS SUNqLIYISIOA I9p 1Y (Ax)D OSUOMINLIOAN | [93107DG | ULI9ISUOTINUN,]




